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i ) 3 4 ] 6 7
Uwpwupubip
09132200  |pkughu, ntignijwp Qe thuip 420 28500 11970,00
09134200  |nhqtijwjhu wnbihp, wdwnuwihu q< lhtp 460 4595 2113,70
09211900  |puwhnywgunn htinndy uu (hwip 2000 120 240,00
39224333 |nnyp dhnwnuwljwl uu hwtn 1600 10 16,00
09411700  |puwlwu quq q< u3 310 3290.3 1019,99
18111100 Jwpwnwnpwlwl hwnny hwagniun uu hwwn 30000 5 150,00
18421130 [alinungltip uu qQniyg 200 100 20,00
19641000  [wnjhtphititwiht wwpy, wnph hwdwp Ut hwwn 1000 15 15,00
24951310 |hwlwuwnhg htinniy" A quiuh Ynugbinpwtn, A uu (hip 1500 40 60,00
40 nuiuh’ 40 C wunpwl uwndwl
otindwuwnhéwuny, A-65 nwup' 65 C uwndwl
stipdwuwnhéwuny
30121500  |pwpwphottip uu hww 10000 9 90,00
30192121 |gphs gunhlwdnp Ul hwin 100 100 10,00
30192130 |dwwnhwnubip uu hwuwn 50 66 3,30
30197234 |pnpwwwlwly, Ynon Ywgdny uu hwwn 1000 25 25,00
30197112 |Gwphsh dinwnuwiwpt Guwlip, dhohl Ul nnih 500 9 4,50
30197111 [Ywphgh dbwwnwiwnti Yuwtip, thnpp uu nni 300 9 2,70
30197622  |pninp, A4 Snpdwinh uu g 2000 65 130,00
30199420 |pninp Upnidutiph hwdwn, unutddwdpny Ul hwwn 300 15 4,50
31442100 [ynunwlhy dwpinyngutip Ul hwwn 35000 3 105,00
31684400 | Jwpnwl uu hwuw 700 10 7,00
3241130 |hwdwguwlg uu npwd 600000 1 600,00
33761000  |gniquipwuh pnunpe, nninting ULl huwin 150 300 45,00
34351200  Jwywndtipuwutiph wupyutip uu hwuw 40000 17 680,00
39221460  |pdhu’ Ubiplupwpwlwl Uu hwin 600 5 3,00
39263200  |gpwubilyjwlwihl ghpp, dwinjwu, 70200t uu huwin 1000 30 30,00
wmnnwuh, uwhunwly betinny
39513200  |pnpl wuatinnghy. tipyslipwn UL hwn 350 120 42,00
39811300  [hninwglipdhs, onh uu huwin 500 10 5,00
39812410 |ywhnyph thwyligdwl dhong uu hwn 600 10 6,00
39831241 |ofwn, dlinph uu g 1000 10 10,00
39831243 ||dwgph tinoh wynndwn Ul g 1000 17 17,00
39831245  [o6wn, hlinniy ULl (hup 400 30 12,00
39831276  [gmigqupuwultiph dwppdwl yniptip uul [huip 1000 15 15,00
39831278 Juwwuph [wgdwl thnoh uu huwwn 1000 15 15,00
39836000  |wyli|, unynpuljwu Ut hwin 1200 15 18,00
42111350 |ququiht wntihputiph hwdwlwpagtip uu hwwn 330000 3 990,00
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44111444 |ubipy-Ldwy, gnyup’ wwonwwthy Yubuwg uu g 2000 3 6,00
44411120 |oph dnpwly, 2 thwluing Ul hwn 8000 5 40,00
44511110 |puhtip — T huitn 2500 10 25,00
44511100 |alinph gnpdhputip uu hwwn 6000 6 36,00
44511170 [thngfutip i uu hwn 2500 10 25,00
44521170 |[ynnuyliplitip uu huwn 5000 20 100,00
Ownuwjnipjnitubp
50111130 |wdwndtiptbwutiph Jtipwunpngdwt uu npwd 950300 1 950,30
Swnwiynipniubin
5031120  |hwdwlwpgswiht vwppliph ywhwwbdwu W U i 200000 I 200,00
Ybpwunpngudwl dwnwjnipniutitip
50341500  |nbuwgpiwl uwpptiph yGpwunpngdwl L Uu npwd 750000 I 750,00
wwhujwudwl dwnwinuyajniittip
50531200 |Etlunpwlwl uwpptiph, uwppwdnpadubiph uu nnwd 50000 1 50,00
Ytipwunpngdwu b wwhwwbdwl dwnwnyamuutip
51241100 |uwi/pgughnt uwpptiph ntinunpdwl U nnwd 960000 1 960,00
Swinwininlip
64111200  [thnunwihu Swnwynipgmibtip’ uwdwo uu npwd 50000 1 50,00
Lwdwlubiph htin
64211100 |hwupwjhu hinwfunuwiht Swnwjnieniitip uu npwd 350000 1 350,00
65111100 [fudbiynt oph pwpfunid uu npwid 50000 I 50,00
65211100 |quah puwpfuni = uu pwd 300000 i 300,00
65311100  [Liywnpwlwtniwl pwgfunid uu npwid 500000 1 500,00
66511120  |wnnnonipwl wuwjwhnywgpdwl dwnwjnipmtutip Q< npwd 2400000 I 2400,00
722174 |hwoywuwwhwlwt hwdwhwpgswihb dpwgpuwih uu npuwd 170000 I 170,00
thwpbiputinh dowldwl dwnwjnipniuutip
72411500 [hwdwgwugwihtu Letiph hnuphugh uu npwid 10000 1 10,00
Swnwjnipjniuttip
79111200 [ubipyuywgnigswlwt dwnwniggnitiutip U npwd 362000 1 362,00
99600000 |qunud shwunhuwgnn wy| dwluulip qsd nnwd 560600 1 560,60
Cunwdbkup 26369,59
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